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U9 U hil WA o 10 I3 W
TEAR HERE TO OPEN THE QUESTION PAPER

1) udienedf wduem U U9 U9 R Ak SAfera: o)

Candidates must write first his / her Roll No. on the question paper
compulsorily.

2) |¥t W s g

I

All the questions are compulsory.
3) Tcdeh U9 T I & 3 STR-YiEaeht | & ford|

Write the answer to each question in the given answer-sheet only.

SS—10—Economics 5006 [ Turn Over

T | ey



4

5)

6)

7)

2
R uoat # taites @uE g, 31 9+t o I vk |9y & ferd|

For questions having more than one part, the answers to those parts are to be
written together in continuity.

T 1 I ToTEH § g U9 1 ST 31avd ol
Write down the serial number of the question before attempting it.

Ty U % @Sl 9 3Tt TuaR | foRet TR i 32 / e / ferkienyme g9 W @ W
* U W @ T T

If there 1s any kind of error / difference / contradiction in the Hindi & English
versions of the question paper, the question of Hindi version should be treated
valid.

9 IR 16 | 22 ¥ aiek frehea 21 fRet ver faereu i 7ot i)

Question Nos. 16 to 22 have the internal option. Attempt any one option.
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SECTION - A
1) agl%lwﬁm : [15x1=15]
Multiple choice questions:
) U7 SRl 3 g TR U HISH A g Fo N I9H e & oeEh & - [1]
A) H=\ q) feret
H) vueHfE q) W&, HEal

The author of the book 'An Enquiry into the Nature and Cause of the Wealth
of Nations' is -

A) Keynes B) Ricardo
C) Adam Smith D) J.K.Mehta
i) o @ g s g o - [1]
) friadafg 9) Wi H
9) U H gfg 3) aftent A wedt
Which of the following was the impact of the great depression?
A) Increase in output B) Decrease in demand
C) Increase in Employment D) Recruitment of workers
i) ‘Rt o AT giear i wTHAT w5 G - [1]
FH) 1947 ) 1952
|) 1935 3) 1969
When was 'Reserve Bank of India' established?
A) 1947 B) 1952
C) 1935 D) 1969
iv) Fadaoptagge - [1]
HA)  m, IR m, q) m,
) om, 3)  m, IR m,
Which of the following is the narrow money?
A) m and m, B) m,
C) m, D) m, and m,
V) i aud S e g3 g - [1]
) MPS = AS/AY ) MPS = AC/AY
|a) MPS =S/Y 3) MPS=C/Y
The formula for marginal propensity to save is -
A) MPS = AS/AY B) MPS = AC/AY
C) MPS=S/Y D) MPS=C/Y
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vi) HRTSH T T IS @ —

) S W ) | 3ok

) WO 3) i

The example of paper tax is -

A) Excise tax B) Customs duties

C) Service tax D) Wealth tax
vil) TSt & o SUshHI o fafew @ wafteE @ -

) e et q) T =l

) USinTa wireEt 3) US| ="

Related to disinvestment of public sector undertakings is -

A) Revenue Receipts B) Revenue Expenditure

C) Capital Receipts D) Capital Expenditure
vii) feRr fafra ot yonett @ faftoa = fefes 2 -

A) TWEHR 9) o=

w)  sgugE fem 7) o=

In fixed exchange rate system the exchange rate determinant is -

A) Government B) Banks

C) Multinational corporations D) Wealthy individuals
ix) = sreivmes o aery g -
HN) FAF@E ) USRI
") OO HHd R 3) gl R fwa |
Microeconomics is concerned with -
A) From total output B) From employment
C) Fromaggregate pricelevel D) From the price of goods

X) g UEA e wHe TE ¢ -

H) A IAEE W d) IO FE W

q) Saren freek fom 3) R

This 1s not the main economic problem -

A) What to produce B) How to produce

C) Whom to produce D) How to become poor
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xi)  forcfer Bt aqai B i i 3 E - 1]

AH) e,=0 T e,=1
q) e, < 1 3) e,> 1
The elasticity of demand for luxry goods is -
A) e,=0 B) e,=1
C) e,<l D) e,>1
xii) wiT =k i fewn o wifa  wRor @ - [1]
) Twg i hEE q) 3T aEge i hmd
¥) IUNIH I 3= 3) IUHRH R &
Movement in the direction of the demand curve is caused by -
A) The price of the good B) The prices of other goods
C) The consumer's Income D) The taste of the consumer
Xiii) SHIF-H1 a5k TEEd dieft e @ - [1]
) T ANE T ¥) 3itaa fer @ra @k
H) T R vE O g) Tl UNEdl AW ok
Which curve is a horizontal straight line?
A) Total cost curve B) Average fixed cost curve
C) Total fixed cost curve D) Total variable cost curve
xiv) I Fiia W steushTela e omT gt @ - [1]
AFN) IA q)  Afremaw
)  SraRwNd g) |
Short run average cost at zero output is -
A) Zero B) Max
C) Undefined D) Allthese
XV) o % SR Hed ad1 EH o fR1d &1 UHEA 8 - [1]
)  TA TN ) FA ARG
)  3ited S 7) oifEd @nE
The product of the market price of the good and the firm's output is -
A) Total Revenue B) Total Cost
C) Average Revenue D) Average Cost
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2) fram Tt 6 gfd fifw [7x1=T]

Fill in the blanks :

i)  ScureA eman ® gfig o & foru ot o TR A R, S/ = wgd 2l [1]
Expenses which raise productive capacity is called ~ expenditure.

i) = RS o W, wul v e A i g 2 [1]
At higher interest rates, firmstendto ~ investment.

i) = T W TH A ATAYR T B AR A 2, WA AAC .o, gt =T 21[1]
When tax collection exceeds the required expenditure, the budget is said to
be in

iv) el a1 S | gl 2 9, I a b Te] WA o AT o SR 2t 21 [1]
Current Account is in balance when  on current account are equal to

the payment on the current account.

V) reeeeeeeeenns YT, H SUNTAT | T8 IR & T a%g <ht Ueh SAfdfeh SIS oh ST
¥ g 2l [1]

utility, is the change in total utility due to consumption of one additional
unit of a commodity.

vi) 3TRTH AT TRTA & Sl TR Sl WH &l ............. e 2l [1]

The difference between the revenue and cost is called the firm's

vii) afe fredt Hrma W IR gfd TR qm @ sifees 2, @ S0 fiud WaNR H
FHgerdt 2| 1]

If at a price, market supply is greater than market demand, we say that there is
an
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3) oifd oTgmeIesE WA [10x1=10]

Very short answer :

i) wa s i ufmen S [1]
Define National Income.
i) et fraw 3 T e w2 1]

How is net investment determined?
i) STe oo U= Hay fhan fafvs od & e @ 22 [1]
For how money financial years does the budget manifesto relate to?

iv) Hewer mfhes wrel @ MU R, af Twa aeedE Ter 2,000 e w. 9 Fed
= T 400 = ®. 2 [1]

Calculate gross primary deficit if gross fiscal deficit is Rs. 2,000 crore and
net interest liability is Rs. 400 crore.

v)  aiftremies @ ek e 20 [1]
What is official reserve sale?

vi) = R faves fed wed 27 [1]
What is called interest rate differential?

vil) EEeEt | s st 22 [1]

What do you mean by resources?

viil) fafera franfaferat fova werr el wedt 3, a8 sam e enTiies forvetson @6 Am fafam) (1]
Name the economic analysis that explains how different mechanisms function?

iX) oSe W W 3HA9 SIS Hgl [Ud g ? [1]
Where on the budget line will the optimum bundle be located?

X) WH % Yfd a5k o gt e qet & am feiau) [1]

Name two determining elements of supply curve of a firm.
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SECTION - B

Y I T

Short answer questions :

4) fomdieot % YT TuTEl Ht TEEET| 2]

Explain the positive impacts of demonetisation.

5) wefm uiie® dit arran @ T hifm) 2]

Explain the assumption of Ceteris paribus.

6) wreEEl Fav & g wRUT w1 SgE i) 2]

Mention two reasons for inventory investment.

7) e fem & a=a 100 . 2 @ feia qore 7m Sl [2]
If Nishant's savings is Rs. 100 then find the output multiplier.

8) STIUTHR UF eI H SR hifTu| 2]

Difference between Devaluation and Revaluation.

9) afe wra @ s 190 ffersm sier 9wt =R dqem —50 fuferm fer 2 At Fafa it o
EAIEL 2]

If india's imports are 190 million dollars and trade balance is —50 million dollar's,
then calculate the exports.

10) srefeTeran i @iE Q1 FHga wnemn faf) [2]

Write any two central problems of economy.

11) faftrm =g forftl ohgd 87 SETEH0T Qo |HEITEL) [2]

What is Giffen goods? Explain with examples.
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12) M= SRgait i uienfia fifkT) [2]

Define substitute goods.

13) fum & ghgam gfawe = Tmemsu) 2]

Explain the increasing Returns to scale.

14) fFraam feifa S = we fif) 2]

Explain price floor.

15) wH & oW SrenH g | onma R wwe 22 [2]

What do you understand by the break even point?

wus - 9
SECTION - C
el IHHE T
Long answer questions :
16) W& fraRen U 3 & adet JaTg i THesy| [3]

17)

Explain the circular flow of income in a simple Economy.
gar/OR
Tkl TE] SIS T <kt o1 fafer st wwmemsu)

Explain the income method of calculating Gross Domestic Product.

TN ST o U i WA SHIST a0 7 & Trea TIfeEi st quese| [2+1=3]

Draw a diagram of the components of the government budget and explain non tax
revenue.

tat/OR
& U Heldt A I U FH I Ui shl [T St TgEdan 9 THeEey|

Explain the effect of a reduction in taxes on the income with the help of diagram.
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18) fim anvuft ® Fet Scure qen Hui et H Mo AT

Calculate total product and marginal product in the following table.

3]

oW FA I A IR T 3R
Labour Total product Average product Marginal product

1 - 12 i

2 — 14 —

3 - 15 -

4 — 16 —

5 — 15 e

6 — 14 —

Jgar/OR

19)

Tfe Uk wH il et FRR A 10 &. 3 @ Fe awol # st uftard g qen sied fer o S
U HifeTU)

If total fixed cost of a firm is 10 Rs. Calculate total variable cost and average fixed
cost in the following table.

frta (zenreai) FA AR T UREdl AR 3itaa fer e
Output Total Cost Total Variable Cost | Average Fix Cost
(units) TC TVC AFC

0 10 — —

1 20 — —

2 32 ---- —

3 42 ---- —

4 50 — —

5 55

6 57 ---- -

5 T3 Ul TS AR hiFd WX Ueh TH <hl AU 50 TO2 2| 99TR HiAd dga 10 93 8@ S
2 o1 Wi @t wH 200 wO gt 21 9fd Rt hma o i i) [3]
A firm earns a revenue of Rs. 50 when the market price of a good is Rs. 5. The
market price increases to Rs. 10 and the firm now earns a revenue of Rs. 200.

Calculate the price elasticity of supply.

3tar/OR

1 awolt @ SuEm R gEi i hma o T i)

Calculate the price elasticity of supply using following table.

U i dima P =it g wEn Q

Price of pan Quantity sold

T Ut

Old Price P, = 10 Old Quantity Q, = 100
TS T W

New Price P, = 15 New Quantity Q, = 150
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SECTION - D
e ue ¢
Essay type questions :
20) HgT1 % HET BT AU hiTe| [4]
Describe the functions of the money.
Jgar/OR
fr i =men fifu [2+2=4]
i) e I U™
i)  Senfies Tt U™
Explain the following :
i)  Cash Reserve Ratio
i)  Statutory Liquidity Ratio
21) IuMIHt At 3T W YRS % HRUT a9 A H 2 Tt UREd- shi [T <hl AgEmn & qHenst|
[2+2=4]
Explain with the help of a diagram the change in budget set due to changes in
consumer's income.
Jgar/OR
TG H HA H URGA o HROT T B W g 16t YRS Shi W@t St JgrEan § qHes|
[2+2=4]
Explain with the help of a diagram the change in budget set due to changes in price
of goods.
22) 3itaa fer wrma o < e 6 agEa @ s=ren wit) [2+2=4]
Explain the average fixed cost curve with the help of diagram.
Jgar/OR
HACTHRTA HHTd AN =5k ht ot ki TgEan | =men Sifu) [2+2=4]

Explain the short run marginal cost curve with the help of diagram.

VOO
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